


';‘;# &

" i 3 fore e B -

GENERAL INSTRUCTIONS TO THE EXAMINEES :

(1) liermeff qE9Uw 9 TH-9F R AW

o g

-

Candidate must write first hi \‘:’-‘Fﬁbll No. on the question paper compulsorily.

«%
. ﬁ}qﬂ
()t e s €
All the questions are compulsory.
(3) s e bl IR & g Fe-frn A @ ford |

Write the answer to each question in the given answer-book only.
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(@) o= et | s @vs 2, 39 Tt % 3w a9 g

For questions having more than one part, the answers to those parts are to be
written together in continuity.

(5) TH-TE F e T aﬂsﬁwﬁ%@uﬁnaﬁgﬁ/m/ﬁﬁm@ﬁw%ﬂ *
TS % 9% 1 & qel 7H |
If there is any error / difference / contradiction in Hindi & English version of the |
question paper, the question of Hindi version should be treated valid.

(6) I T I foean | I3 I 1 i 37y ford |
Write down the serial number of the question before attempting it.

| ~ ,

(7) ST 1 3 AT AR R

Weightage of marks for the question is as follows
TS W 6t q@&AT g-ﬁm WR | 3 e N

wvE-31(A) | 1(itox),2to11=20% b 20 1
@vs-7 (B) 12t019=87, 16 2
@Us-7 (C) 20t023=4 16 4
TUE-3 (D) 241925 =2 10 5
@UE-7 (E) 261028 =3 18 6

(8) A WEAT 20 ¥ 28 © 37r=fieh faehey A mu E |
Q. Nos. 20°to 28 having internal choices.

5

SS-1 S-Mathematics

l e Downloaded from www.cclchapter.com




(31)

A

14
(W) 3

3
gig - A

SECTION-A

1

| 1. () tan!(yf3)-tan! [:E]mm%

(=)

w3

(5 3

. 0
The value of tan~! (\/3) — tan™! [’@J is

‘ n
, A) § ®) 3
7
K+4
(ii) u&{ N
(3) 3
(") 2 (®) 4
i K+4 -17 Ja -1 _
l Ifmatrix\:3 K—6]=[3 _4},thenvalueofals
| (A) 3 (B) 6
1'- €) 2 (D) 4
|

——
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3 -11 1
(ii) IRfs | 5 0 O|=wmEAWE
-10 .3 0
@) 18 @ 15
3 -11 1
The value of determinant | 5 0 0lis
-10 3 0
(A) 14 B) 11
() 18 (D) 15
-1 | s
(iv) 'ﬂﬁA=B 3]@,?!'1A—‘ammqg 3& &
2 1] ifs
1_3 1:| _..~'." _];—l 1
_[l ul} § : T
IfA=f, 5 |,thenvalueo is
1[2 1] '1-3 7
(A) 53 1 ®) 3|, J
113 1} 17
C) 35 Dy 4|1 1
©) 502 1 (D) 5|y 3]
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(v) 1EWFTf(x):{"tan_l": X #0 o = 0 W aTat S 2
0 =0
(31) 0 (q) o
| 7 (#) 1 - (=) -1
xtan™'x ;x#0

Left hand derivative of the function f(x)= {

T atx=0,is"
0 yx=i0 atx= . is
| (A) 0 B)
€ 1 (D) -1
|
(vi) S 3y = sin x — 2x T x 3 W& FThoH 8
|
cosx+ 2 2—-cosx
() —3— ® —3
cos x—2 cos x — 2
(9) 3 (7) _3
' . ‘ The differentiation of function 3y =sinx—2x w.r.tox is 1
| cosx+2 2—-C0SX
l (A — 3 B) —3 (
cos x —2 COS X — %
€ = (D) @ﬁ 8 \'g
o 5B
Foon =) ) : ‘
f (vii) T x23 + y23 = 2 % farg 1 1)%1@?—%@1&@61%
(3) +1 (@) -1
1 1
| The slope of the tangent to the curve x23 + y3 = 2 at the point (1, 1) is 1
(A) + B) -1
| 1 !
© 3 D) -3
|
| SS8-15-Mathematics | [ Turn over
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(viii) f e2logx dx T A &
(@) 3ri+e @ -1s4c
1 |
@ 3re @) 3a+c
The value of f e2loex dx i -
(A) 3ri+e (B). -3x3+¢
1, 1
(€) 3x+c (D) 3 +c
(ix) 2 wfeeti  whEon 4 3 S g 2 | 9fE 3% wem i 600
i 2, T T e
(31) 0 (®) 10 ’
(") 20 () 15

(x)

L

The magnitude of two vectors are 4 and 5. [f the angle bet'we

vectors is 60°, then their scalar product will en the two

ir ‘ (B) 1043 %

P 13°

A : & P
(—]mma‘l’ﬂ &5 ‘

B _
) (@) 2
@) 3 @ %

A and B are independent events, if P(A) = -1_75, P(B) = S

. " 13 ad P(A B) =
13’ then the value of P (ﬁ) will be
4 2
(A g B) 5
3 4
©) 3 D) 3
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2 HﬁA%[ll '—11],3‘TA2$TWWE€TE:TQI

A= [i ; —ll] , then find the value of A2, ' 1

3, afe RS ‘Kl 5{‘ =30, A K 1 5 37 1T |

If determinant

; . .
Kl K. = 30, then find the value of K. ‘ 1

4. Iﬁﬁlﬁo,—z),(S,2)W(8,x)¥ﬁ{§‘§,ﬁxwmmiﬁﬁml

If the points (3, -2), (5,2) and (8, x) are collinear, then find the value of x. 1

"7.‘1-

i 5
' &y -
If y = x3 + tan x, then find the value of o2 1
6. 1°fs X_ 1 1 A AR |

cos? x | 1
Find the value of | T ginx
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n/2- '
7. j cos x dx sl Td IS |
0

/2

' Evaluate J' cos x dx. ' _ g
0 . : |

A

§ 8. ﬁlﬁﬁmﬁmﬁﬂé’ﬂh3j\+k,5’=4?-2j‘—2ﬁwaxaaﬁ=g,

Prove that the vectors a = 27 + 3} + kand B =45 — 2% _ o0
) = 2k are perpendicular to -

each other.

9. @%@%f&%-ﬁ#@?mﬁﬁmﬁﬁ%ﬂmﬁ%mmmm%l

Find the direction cosines of a line which makes equal ang] ;
ﬁ, g 8!€s with the coordinate
AL

axes. P 4
| . 1

-

10. ﬂWf@Tﬁ%mmmﬁﬁqﬁt@ﬁ%gm% :

Find the differential e%gaﬁon of those straight lines which passes through origi
' origin. 1

i m%SZWﬁ@m-mﬁﬂéwﬁﬁ@wﬁmw |mmﬁ
g <t TR s e |

A card is drawn from a well-shuffled deck of 52 cards. Find the probability that s
a
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13-

14.

15.

16.

9

Qs -

SECTION -B

cos~! x T MM a1 IT=1 i feafad |

Write the principal value and domain of cos™ x.

H%-A+B=[_27 _2} TA-B =B ;ﬂﬁmﬁtmﬁm'

IfA+B=[—27 _(5]} andA—B=[3 ;2},thenﬁndthematrixA.

x-1 x-=2

RIEE I ED

1 T =1 &Y, A x 1 A T HIC |

X x—3

If value of determinant

x = =1 e
} ¥~d i o thén evaluate x.
—3{% i B
‘1 - e ‘}q y

qsaﬁf(x)%(l — 2x) &l x = 0 T G g i |

Examine the continuity of function f(x) = (1 —2x) atx = 0.

f"z dx T T |

x+1

8
Evaluate J.;‘:l' dx.
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17. el G dy = e Y dx Y gt Hifdm |

Solve the differential equation dy = e¥+ ¥ dx. . ' _ 2

18. feg (2, -1, 1)ﬁwmwmz?qu+ﬁ%mwwwwm 'Y
it | | : |
Find equation of the line passes through the point (2, —1, 1) and parallel to the

AN A
vector 2i —2j +k. 2

19. 2 P(A) = 0.4, P(B) = q @1 P(A U B) = 0.6, 7/&f A 3 B Ta= 9 &, 7t g 1

T 374 ST |
If P(A) = 0.4, P(B) = q and P(A U B) = 0.6, “fhéf{e A and B arc independen
events, then find the value of q. K : )

Qg -~ | b

/SECTION - C

20. mﬁﬁﬂ’.% 2 Sin'_l x= Sin—l {2x _\/sz}

Prove that 2 sin™! x =sin™! {2x/1 -2} y
IYET/OR

firg shifere 16 3 tan! x-= tan~! [Sx - x3J

3x—x '
=Y 5o e in]
prove that 3 tan~' x =tan ( q s

¢5-15-Mathematics
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21, o ST T AT R e a2 + 2x + 5 SHEH T A R |
Find the intervals in which the function x2 + 2x + 5 is increasing and decreasing. 4
IYEr/OR
# TEZ+y-2x-3= 0 39 farmgadt i T <hifore Tl Tl -3w x-378 % HHR
il | -
Find points on the curve x> + y2 — 2x — 3 = 0 at which the tangents are parallel to
x-axis.
2. a2z = 3?+3\+2ﬁ_aenB’=2?ﬂ2§+2ﬂ?h§qé3aﬁ%ﬁwaﬁm§gﬁmﬁm
shiferg |
Ifa= 3’}‘ + 3‘ + 2k and §=2i- 2] + 2k then find the unit vector n perpendiculaf to
vectors a and b. 4
& 1 2 = 2 = B 3
feraen st 5= 3 i’
_x___—:——l- = ‘v:“ = 5@
Show that lines —5 3
other.
23. T@aiix+ 2y = 8,x=2,x=4ﬁmx-31&1ﬁﬁ'ﬁﬁ'ﬁﬂ mmﬁﬁq |
Find the area bounded by lines x + 2y = 8, x =2, x =4 and x-axis. ' 4
€T/ OR
d
X8, }/b = (x+ y)a+b'ﬂ'ﬂ E% Eﬂﬁﬁﬁq |
. d a+b
Find =~ b=(x+Y)
ind dx of %%+ y ( y
SS-15-Mathematics [ Turn over
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TUE -7
SECTION - D
24, e fogra =1 A e Freefofiga aftern fem = g Hifi

5x+7y+2=0 ' -
4x+6y+3=0
Solve the following system of equations using the matrix method : 5
SGx+Ty+2=0
4x+6y+3=0
IYaT/OR

1 2 2 :

s A=|2 1 2 |8, dfagHfmisAaz-4a-51=0
: 2 2 1:

1 2 2 ,
Ifmatrix A=| 2 1 2 | then prove that A2—4A — 5] =0

2 21 .

\

25. e HeAw § 4 W I 6 A G & lﬂ%wm‘ﬂﬁﬁaﬁﬁéwﬁmuﬁwﬂq
forepTeft STt & 1 Whe el <hl HEAT 1 WTAHAT &2 F1a HIfT |
An urn contains 4 white and '6v‘re,d' balls. If four balls are drawn at random
without replacement then find the probability distribution of number of white
balls.

FIYET/OR

e T 52 TR It T A A T A A D IR s % any
fepTer ST & | S8 Y T 1 Wifiehar sed s hif |

Two cards drawn with successively replacement from a welj shuffled pack of 52 -4
cards. Find the probability distribution of the number of aces,

gS-l S_Mathematics
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g vs -9

SECTION -E

= dx
sin x

T
26, ﬁmaﬁmjlj ot
0

b1
x
Prove that .[ TEshx dx | |

0

Hyar/OR

1 2 x 5 ETE FATRE Hfe |

x3—x2-x+1

e

1

. 1 ——with respect to x.
Integrate the function .3 _ x2—x+1 i

-

aruar/OR

2x(1+ c%%xx')g}lﬂcosx =§1T{3ﬁ:3'8% l
» ¢ 2

Y 2
il 9
‘_'f 'Px

' 1
2 x (1 + cos x) has maximum value at cos x = 5.

firg < fo e sin

Prove that function Sif

. Wmﬂ?ﬁﬂ(l+cosx)dy=(1-005x)dxa'ﬁ€aﬁm|
Solve the differentil equation (1 + €S x) dy = (1 — cos x) dx. 6
€ ai
31uar/OR
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SS-
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dy _x+y+l
& = xry PEERm

x+y+1

Solve, e - Tty

FYET/OR

!x—x!-ﬁ-?)
2(x—y)+5 Tﬁmﬁﬁm !

dy _(x-y)+3
Solve, dx  2(x—y)+5

e r= 2+ 30+ d-3f + 2k s T =@l sfr ey rp i+ 30+ W

. e =g gl AT I |

Find the shortest distance between the lines whose vector equations are
v

T=G+2f+30+a (-3} +2k)andr—(41+5_|+6k)+p(21 +3j + k.

31%:IT=|T/OR

mﬁm%%@(m,@ﬁ%@% %=%m@ﬁmmﬁm§ﬂ

THER ¢S
Prove that length of perpendicular from the point (2,3,4) to the line - ;x . %-_-
et is 3 ;01 units.

IYSET/OR
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fg (1, 2, 4) @ w1 AR s A Ywet S0 = TP 2210

x—315 =y"829=z_—55 T T Y@ o Ee et T A |

P ) -
Find the vector equation of the line passing t;b,ro 'Ebﬁ oint (1, 2, —4) and
¥ . 8 3122 YoM xo15 y_29 55
perpendicular to the lmesx3 @16 % % 7 and ™ 3 =1 g — _5
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